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SN BESAD
My osE MUS AUl
Sl HEE 2P HAAY A CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HEMAMEH B3 748,485 543,400 205,085
201 Bt H | 114,250 94,000 20,250
01 AP 22l Yl 114,250 94,000 20,250
Oas sz 114,250
— 8t220141LA 74,250,000 74,250
—H42E S/W 40,000,000& 40,000
405 XH&HFE SHI 634,235 449,400 184,835
01 JHAt =2 ZF S HI 634,235 449,400 184,835
OL: MAEH A 587,010
—3EH 500,000, 000& 500,000
— Z2lH 565, 000& =154 CH 87,010
O2F 2 H2THZ M2 Bl 2 47,225
— & FH 1,200,000& =37 CH 44,400
— T2l 565, 0003 504 2,825
Ol Yl M3D| 2= 12,232 15,290 AN 3,058
405 XtakF S| 12,232 15,290 A 3,058
01 AL 2B F SHI 12,232 15,290 A 3,058
OCIHYHAF I 2 305,800& =40CH 12,232
HESAMAAE A 400,000 257,550 142,450
405 X+HoHF SHI 400,000 257,550 142,450
01 MMt = S F SHI 400,000 257,550 142,450
OFESAMAAE AsHE MY 400,000
— BHEALX 160,000, 0003 *2CH 320,000
— S2tAX 4,000,000& *20CH 80,000
SN0 HEBAIAHE 22 25,000 97,000 A 72,000
201 Bt A | 5,000 0 5,000
01 AF2 22l Yl 5,000 0 5,000
OPCRIABIZI S BAIAE IR0l MA D
5,000,000& 5,000
405 XHaHF S| 20,000 97,000 ANT7,000
01 M =S FSHI 20,000 97,000 AT7,000
OPCXHAH2t 2| S A A S A H WA
20,000,000& 20,000
HESA AN 2HAH 12,096 2,880 9,216
201 Bt H | 7,296 0 7,296
02 352494l 7,296 0 7,296
OFESAMAMNEHAANEH SAE=H| 7,296
— 23 =3HD|(DTX-1800) 66,000, 000& *6% 3,960
—ANS24D](1950) 28,000, 000& *6% 1,680
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— Al S AD1(1800) 23,200,000 x6% 1,392
- PADSE==FSP 4,400,000 *6% 264
202 O4dl 4,800 2,880 1,920
01 = LH 4 Hi 4,800 2,880 1,920
OAZEE BAMIR &A &2F 04l
80,000& x5 12 4,800
QIere ZEANE EF 69,000 45,500 23,500
= 13,200
< 16,740
Al 39,060
401 AIEHIZL 20 69,000 40,000 29,000
= 13,200
< 16,740
Al 39,060
01 A& Bl 69,000 40,000 29,000
OogzdE8sd 5 44D XA
44,000,000 44,000
= 13,200
< 9,240
Al 21,560
ORILAFEANE & 24U T WXl
25,000,000& 25,000
< 7,500
Al 17,500
ANZ? 3818 SF&H WDHAS 39,826 39,826 0
= 9,376
Al 30,450
201 Let24d] 39,826 39,826 0
= 9,376
Al 30,450
01 At 22/l 39,826 39,826 0
OANZ7 237/t == FH Wi & =220
2 EALY 39,826,000& 39,826
= 9,376
Al 30,450
ANZ7 HASFAAE FS(UXSH SEHHUS 18,115 24,479 26,364
A =X H)
= 4,190
Al 13,925
201 L4l 18,115 24,479 NB,364
= 4,190
Al 13,925
01 At 22l 18,115 24,479 A6,364
OANZ7 HEZFZBAAY THAHSAHUA 2=
18,115,000& 18,115
= 4,190
Al 13,925
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AN BESAD
X

M M MY Az
ohelr MBE B HAAY EX CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AMZ2 MolSERHMAH AMEHUHEH 15 2ES 9,095 12,340 A 3,245
308 AHAIEHHSOIA 9,095 12,340 A 3,245
07 IXNHMAR S = 9,095 12,340 A 3,245
ONZT HAZRHIH ATHAME 2E S
=2 9,095,000 9,095
AItS A2 AL 110,000 0 110,000
401 AIEHI L 20 110,000 0 110,000
01 A& tl 110,000 0 110,000
OEM2Z XItSHY HEAY 110,000, 000& 110,000
FESH ANAE |22 3,789,140 3,502,297 286,843
FE2ANAE 29 2 72 1,611,325 1,211,662 399,663
201 Let249] 1,409,474 990,674 418,800
01 At 22l 278,774 92,909 185,865
OdiolM=ZeH A28 #¢ 169,900
—ClOIMZEE S EU(IHA)
70,000 «785CH »23 109,900
—COIMZEH &% SH(EE)
160, 000& *250CH 1.53] 60,000
OZAESEI 225 ¢
134,000 = 100CH 2. 53] 33,500
OXMEHl 2I2E F 75,374
—ZFH 1,183,070& x3,810CH »1.5% 67,613
— ZgH 659,039& x785CH *1.5% 7,761
02 2324l 1,130,700 897,765 232,935
OPC TtatZtel S AIAE 722l 28,700
— SWs= Xl &2l 4| 110,000, 000& *12% 13,200
~NBATZEYN B 2= HEAR
6,200& *2,500H 15,500
O&LHEHl | A2eldl 303,687,000 303,687
OMBIEE SA2eltl 533,395
—HN(F=E LD e HEEH S)
3,221,488,000& *7% 225,505
— SW(DBMS , HA LA ZEN S)
1,741,548,000& *12% 208,986
—QIAHI(E=2J1=X 12), M &
8,241,920& x12& 98,904
OMS¥E KAl 6,211
—sg21¢9 25,777,300 x12% 3,094
—MSxZEE 25,972,700& % 12% 3,117
OHAMMAIAE X2l 24,387,563 *12% 2,927
O=sgll sg&c iz 255,780
-2 275,000& x5701 123 188,100
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el

0% 02 0
HT 04 HT
O

Ot

Al
23 9ELE
A AAE K2

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— S oM 120,000 #470H = 12& 67,680
AR =&Y 3,200 3,400 A 200
03 Al =X H R =X Y| 3,200 3,400 A 200
OF3ESAMNY HRF=A 3,200,000 3,200
308 AXISHXSOoIH 193,389 217,588 AN 24,199
SOZ2SHHSHE AN A HI 193,389 217,588 N 24,199
O337|8 MAEY 722l
141,176,000 141,176
OAZF MHol=SPAIAE BHAHEH KX 22 ]
8,564,000 8,564
ONYHFDEI DALY HHIAHAT 2Y
6,160,000 6,160
O2-LIctAlA g SA22d] 37,489
2-LtetAlAa 8 29 X3l 20,000,000& 20,000
— 2 A 22+ (DRM) 147,188,000& *10% 14,719
- el EEsEgA 27,700,000& *10% 2,770
403 MtXISH M S K201 5,262 0 5,262
02 SO 2SOICHSHXH= X e AH b 5,262 0 5,262
ORHEIDOIAIAE S X222l 5,262,000& 5,262
W-2F WER3 D& AHMUA M2 1,318,877 840,468 478,409
201 LBEt2 Y| 1,318,877 840,468 478,409
01 At 22l Yl 4,500 928 3,572
OsSNAEH A2 2¢ 4,500
— SAMEH A2E 1,500,000& 33| 4,500
02 35249t 1,314,377 839,540 474,837
OFESH FEHE 566,874
— oY 3 4,873,000& x12& 58,476
— 2HING SE§e3 22,918,000& =128 275,016
—SUE AIEE 777,000& =122 9,324
—NEIN SEANEZ 16,696,000& =12 200,352
— R4S HI IS 605,000& = 12& 7,260
—3IANEBS (HETOHY)
500& *1,304% 12& 7,824
—3IINBS (2L HII)
1,500& x479= x12& 8,622
OFBEBSAHH SX 22l 686,101
— QI Y (IP) L&D 591,516,010& *6% 35,491
— QY (IP)X S| 592,815,000 *6% 35,569
—UHERD 2S5 FHI(VPN)
308,599,326 & *7% 21,602
—HER3a &bl 2,499,533, 000& *6% 149,972
—ANsESETZHAIAE 124,517,000& *6% 7,472
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A 3E2SA
M M HES FE2s
el FESA AAE S22 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—ZHZ LA AIAE 102,700, 0002 *6% 6,162
—UIESIT 22l AlAE(NNS)
122,590, 5002 *6% 7,356
— OIHUYWE A EE A A E(Q0S)
86,300,000 x6% 5,178
— P22 Al AE 91,261,000& *6% 5,476
—HHARE NISHY
1,761,202,000& *6% 105,673
—GaSAHAANLE 243,735,380 *7% 17,062
— IPESAIAE 136, 136, 000 & *6% 8,169
— DAFE S I (FAX) 44,241, 7903 x6% 2,655
—WAMNS BHEEX 8,657,550& *6% 520
SHMEAF X (UPS) 208,645,540 x6% 12,519
—g2s8sl(020re) 60,416,580 *6% 3,625
—FUSEEZ KXl
21,800,000 =120 & 261,600
O33240/0t0l |AI&2ldl 252,702,000 *8% 20,217
ooy FEAE X222l 40,717
— 2B (140L) 661,835,000 *6% 39,711
— MUY REHI (204 2) 16,759, 0002 *6% 1,006
OoUYRAFEANLE IS
39,0003 * 100 2128 468
AMEZE EHO0XN S A& AMOE 24 667,495
201 L2l 578,517
02 23224l 578,517
OR&A IHUNEIA S8 FA2Ll(SEA
=4 499,958,000 499,958
Od &H 2 &3228 X &2lHI(98) 35,413
— oD (&Yl) 44,100,000& *8% 3,528
— XM 40,560,000& *12% 4,868
—d2024H 14,000,000& *12% 1,680
—SgZM 49,210,000 x12% 5,906
—sgzd¢ 70,600,000 *12% 8,472
—d2UHE 46,323,000 x12% 5,559
—Zhgs 20,350,000& *12% 2,442
— & X 15,246,000& * 12% 1,830
—ZMEA 22,550,000 x12%+5/12& 1,128
OnHZAAAE RXI2elbl
251,100,000& *12%=*1. 1 33,146
QXA AIAE I SIHA L] 10,000, 000& 10,000
301 L2 A= 6,000
1MIIEBEAS 6,000
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SN HESAD
HE: HY HEE ATBH
HESM ALY |X2e cHol )

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OZMHOIXl OlSX OtLelXl EAZ K=
5,000& *1,200H 6,000
405 XHoHF S HI 82,978 0 82,978
01 AL ESFH S 82,978 0 82,978
OUHAUNHI A SEHFAAE ZHI 0K 82,978
— MW NEEX 38,000,000 = 1CH 38,000
— W 2told A 3,000,000 24 6,000
— 9 HYEX 38,978,000 *1CH 38,978
FENS MUl 191,443 175,181 16,262
201 Let24E] 191,443 175,181 16,262
02 2324gl 191,443 175,181 16,262
O=aolNElA =8 12,210
— SMHOolX 55& 18,0002 123 11,880
—MS&XT2A 330,000& 14 330
ONMLIBEESE BetNHIA AEE
792,000 »24! 1,584
OFUE 2XAMHIA AEZ 177,649
—HEYS 9.9& 217,579 x12& 25,849
—SELS 25.3& 100,000 53| x12& 151,800
HdE2ES 23 763,976 393,718 370,258
2oF s/ +¢ 96,246 124,296 A 28,050
201 ¢er24l 96,246 124,296 A 28,050
01 At 22l 96,246 124,296 A 28,050
Oial L AS5IE HAHE S/W F¢ 96,246
—PC SEHA 21,5703 +3,000CH 64,710
—AHE BHAU(AER) 291,130& »50CH 14,557
—AHE #a(2lsA) 1,650,000 *5CH 8,250
— SHALA B 2t 2 929, 4003 *3H 2,789
— WPC XI310I 39,600,000 *15% 5,940
FEBerAH g0d0lE ¥ |FXNE= 148,730 143,488 5,242
201 et 148,730 143,488 5,242
02 23=2gHl 148,730 143,488 5,242
OHEESAAE KX 2l 148,730
— HW(194!) 778,764,000 *8% 62,302
— SW(134!) 720,233,000& *12% 86,428
285 olmet 235t 519,000 125,934 393,066
201 Let24d] 31,600 35,800 A 4,200
01 At 22l 11,600 5,800 5,800
OMIBEES W= 5,800
— Z At 300,000& 62l 1,800
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2N HBEAD
X XH - SHXE
L= B

D o
el B82S

& 23t (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— Wbl 2,000& *2,000 4,000
OFEEN=E 5,800
— 2 AtHl 300,000& *63] 1,800
— Xyl 2,000& *2,000 4,000
02 35244l 20,000 30,000 A 10,000
OMOINBES HiAaRA B4 20,000,000 20,000
303 A2 1,500 0 1,500
01 ZAZ 1,500 0 1,500
OfN BEECES 222N Al&Z 1,500
— X2 700,000& x10H £ A 700
- = 500,000& 10 £ A 500
-& 4 300,000& x10H & A 300
405 XHAHE S H| 485,900 90, 134 395,766
01 At = S F S b 485,900 90, 134 395,766
a2t A EotEH| el 50,000,000 50,000
OAMH SHEIRS(AHE) 25 264,900
— A HAXHAIAEH 45,000,000 *x24! 90,000
— NHE EHUIXCSHAIAE 59,900,000& 59,900
— NHE WAL 57,500, 000& *24! 115,000
OBOtUSBAIAE A g 0lE 41,000
— BolsSB &2 4 22,000,000& 22,000
— E0oHUSB M2 el 38,000& 5004 19,000
ODDos CHES&Hl WXl 40,000,000& 40,000
O, 28 2 O0I22AlAE DX
28,000, 0003 *24] 56,000
O AR AIAE WH 34,000,000& 34,000
MBI oz 2,750 2,750 0
HESHXNUE = 2,750 2,750 0
201 et A | 1,050 1,050 0
01 AFR2t2ldl 1,050 1,050 0
OFESXAUE EHRAS ¢
70,000& *15H 1,050
303 A2 1,700 1,700 0
01 ZAZ 1,700 1,700 0
OFESXAQUSE UAMX AAB 1,700
— 1% 500,000& *1H 500
— 2% 300,000& x2H 600
— 3% 200,000& 34 600
HHSIHH(FESA D) 90,120 57,120 33,000
=l 90,120 57,120 33,000
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2N
X ZH -
L= B

el

=

i
2m

90,120

57,120

33,000

36,720

22,680

14,040

40,0002 x34H x 12
50,0003 *x34H 12

36,720
36,720
16,320
20,400

22,680

14,040

48,960

30,240

18,720

120,000 34 x12&

48,960
48,960

30,240

18,720

4,440

4,200

240

370,000& =128

4,440
4,440

4,200

240
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